Handed Out: Thursday 30th January
Due in: Tuesday 4th February
Converting grams to kilograms[bookmark: _GoBack]There are 1000 grams in 1 Kilogram. Therefore, to convert from grams to Kilograms we must divide by 1000.
To convert from Kilograms to grams, we must multiply by 1000. 
e.g. 3000g ÷ 1000 = 3Kg             7.486Kg X 1000 = 7486 grams

1) 1000g = ....................kg
2) 2000g = ....................kg
3) 7000g = ....................kg
4) 1200g = ....................kg
5) 6500g = ....................kg
6) 9400g = ....................kg
7) 6200g = ....................kg
8)  1270g = ....................kg
9)  3590g = ....................kg
10)  7630g = ....................kg
11)  9630g = ....................kg
12)  7566g = ....................kg
13) 6555g = .....................kg
14)  9821g = ....................kg
15)  2255g = ....................kg
16)  9050g = ....................kg


Converting kilograms to grams
1) 1.000kg = ....................g
2) 3.000kg = ....................g
3) 7.000kg = ....................g
4) 1.200kg = ....................g
5) 2.600kg = .....................g
6) 2.900kg = ....................g
7) 6.300kg = ....................g
8)  8.700kg = ....................g
9)  3.970kg = ....................g
10)  6.890kg = ....................g
11)  9.330kg = ....................g
12)  2.810kg = ....................g
13) 8.755kg = ....................g
14)  4.474kg = ....................g
15)  9.075kg = ....................g
16)  6.007kg = ....................g

